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Venus
seen in visible light seen in radio frequencies

false color image, of course

R I V U X GR I V U X G

visible light is smaller than cloud

droplets, so can't get through

radio waves are bigger than

droplets, so they pass through

seen in visible light
seen in radio frequencies


(false color image)

Why do we use radio telescopes?

Venus



Arecibo
305 m across

Resolution ≈ 1.22
wavelength
aperture × distance

Radio waves have large 
wavelengths, so they can 

only see large details

To compensate for this,

radio telescopes have


larger apertures

The smaller the resolution, the more detail can be seen.



What is this?



Detail from 
Parade de Cirque
Georges Seurat

Diffraction can be a good thing!


